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No. | B¥fE | BE o ay Eq= % | UPHER |e—&| Figup|meesn| {F &
1 [10:10 B 15 295>
2 10:39 HeEE 143
3 [10:40 Fryh—#N 15
4 (1041  |FR-5TUTMNY DaTFAI| #ERE | (SR 148 1UP [ 1H | 1UP | 3%
5 (1044 (FY-FTUTMAY a=F| R SRJ 148 1UP | 1H | 1UP | 5%
6 (1049 |7V-FTUTAAY CHR B1F&E| SR 1448 | 12UP | 2H | 6UP | 6%
7 |1055 |7Y-5TUT Ay Bk F15E CS 4148 | 24UP | 4H | 6UP | 13%
8 |11:08] |FY-3TVTMIY SaTdFAI| R B | SR 148 JEfZ | 1H 4%y
9 |1ta2| (|TY-FTUTMEY DazZT| R B SRJ 148 s | 1H 65>
10 |11:18[  |7Y-FTUT7MAY Bk BRFE| CS 2448 | 12uP | 2H | 6UP | 6%
11 |11:24)  |7R-FTUT7 A CHk HE R SR 1248 6UP | 1H | 6UP | 3%
12 11227 |7R-FTU7 M)Ay Bk HE R CcS 1248 6UP | 1H | 6UP | 3%
13 [11:80| |PR-FTUTMAY V=7 #&| R B c 4% | JEfZ | 1H 4%
14 R R 448 B | 1H
15 |11:34 TY-7TUTAhY DER R B (C) 3%l g 3z 1H 653
16 R (S) 218 B | 1H
17 R (R) 448 B | 1H
18 [11:40| |7X-FT7UTMAY G-Y=T7 #&| R B S 248 Iz | 1H 4%
19 R R 2#H B | 1H
20 |11:44 (7Y K-MA—L DaTFHAIL| ZEREE | (WXT) 148 1UP | 1H | 1UP | 3%
21 (11:47 TV-FTUTANY S-Y=7 #&| R B C 448 &5z 1H 45y
22 R S 3fH B | 1H
23 [11:51 73707 Ahy CHR R B SR 68 &5z 1H 45y
24 |11:55  [FY-K ==L ZaTFHAIL| R B | (W) 148 B | 1H 45
25 [11:59 TI-3TUT M)Ay Bk R B CS 68 &5z 1H 45y
26 [12:03 = g« 154>




No. | Bfal | BE o3y B L | UPH |c—ia| Tigup|meese| fF E
27 [12:18 ARV WAV REA L 305
28 (12:48 REE-BEFEIER - DO 7 B R 553
29 [12:53 BEERBN 3%
30 |12:56] |7V R = —L CHR F£1%E| WQ 68%8 | 48UP | 8H | 6UP | 25%
31 1321 [7Y-K'=lI—L B#K E1FE| WF 8748 | 48uP | 8H | 6UP | 259
32 1346 |7V K —-I—L CHk F£2FE| wWQ 48%8 | 24UP | 4H | 6UP | 13%
33 [13:59 |7¥- R —=li—L BER F2F 8 WF 48%8 | 24UP | 4H | 6UP | 13%
34 1412 (7U-K-MI—-LDEE |H1FE| W) | 18# | 120P | 2H | 6UP | 115}
35 F1FE (T 1648 | 12uP | 2H | 6UP

36 F1FE (F) 1548 | 12uP | 2H | 6UP

37 (1423 7Y K —=I—L AR F1%:8 | WIVFQ | 43%8 | 24uP | 4H | 6UP | 30%
38 1453 |7¥- K= —L CHk EFE| wa 24%8 120P | 2H | 6UP | 6%
39 (1459 |7V-F—=L—L BER RIEFE| W 2448 | 12UP | 2H | 6UP | 6%
40 [15:05| |7V-F—=Ib—L AfR BRFE|WTVFQ | 2448 | 120P | 2H | 6UP | 15%
41 {15:20 RER-BEfEERE - OO 7B 553
42 |15:25 BEEFEBNT. RERBN. THRERE 1053
43 [15:35) |PY-K ==L V=7 R | ERE w off 6UP | 1H | 6UP | 4%
44 R F 9%A 6UP | 1H | 6UP

45 (15:39| |PY¥-K—-M—L DEJE | #ERE | W) | 124 | 6UP | 1H | 6UP | 5%
46 R (T 1248 6UP | 1H | 6UP

47 R (F) 1248 6UP | 1H | 6UP

48 |15:44| |7Y-K ==L G-V=T7 #k| iR T 9% 6UP | 1H | 6UP | 4%
49 R F 9%A 6UP | 1H | 6UP

50 |1548| |7¥-K'—lLI—L CHR SR | WQ | 1248 | 6UP | 1H | 6UP | 3%
51 |15:51| |7°A-7TUTAHhY CHR HE R SR 1048 6UP | 1H | 6UP | 3%
52 [1554 |7Y-K—=WI—L S-V=7 | HERE W 1048 6UP | 1H | 6UP | 4%
53 R T 9%A 6UP | 1H | 6UP

54 (1558 |7V-K—=lI—L B#R HERME | WF 1248 6UP | 1H | 6UP | 3%
55 [16:01| |7'0-3TYT7H)hY Bk R | SRJ off 6UP | 1H | 6UP | 5%
56 [16:06] |7V K —ILI—Lh AfR #RpE | WIVFQ | 1248 6UP | 1H | 6UP | 7%
57 [16:13] |7°A-3FUTMhY AR #3hp% | CSRPJ | 1248 6UP | 1H | 6UP | 7%
58 [16:20 BEEANT 5%
59 [16:25| |FY-K——L V=7 & | R B w 648 | IBfZ | 1H 243
60 [16:27| [PV¥-HR ==L V=7 & | & B F 648 IEGE | 1H 24y




No. |FBFfE | BE o3y #E L | UPH |c—ia| Tigup|meese| fF E
61 |16:29 7R =I—L DEE R B (W) 68 [[={iod 1H 6%
62 R (T 6#H ESE | 1H

63 R (F) 6#H ESE | 1H

64 |16:35 7°0-37U7 Mhy DR R B CS 3HH [[={iod 1H 45y
65 (16:39| |7¥-K ==L G-V=T7 #k| R B T 648 IERE | 1H 453
66 R F 648 JESE | 1H

67 |16:43| |7V K —ILI—L CHR R OB | wa 6/ | JEGz | 1H 4%
68 |16:47 7°0-37U7 Mhy CHRk R B SR 64H =t 1H 45y
69 (1651 |7PY-K ==L S-Y=7 #k| R B w 648 IERE | 1H 453
70 R T 648 JESE | 1H

71 |1655) TR =lI—L B RO WF 6/ | JEGz | 1H 4%
72 116:59 7°0-37U7 MhY Bk R B SRJ 64H =t 1H 65

PIR—ILIL—LARITE1FEB AT OYOBRZETVET,
73 1705 |FY-K=LI—L ARR R OB | TWWFQ | 6fA | JEfZ | 1H 20%
FOSTUAREE1ERICYU AOVOREETVET,

74 |17:25|  |7°0-3TUTMhY ARR R B | SCRPy | 6#f IEGz | 1H 205>
75 [17:45 ® & ® 105
76 [17:55| IAR—ILIL—LARRIGL, TASTUTAYAVARIGL~3HAF—F VR 105
77 |18:05 A = ®’T
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